
2 Screws M6 x 60
2 Nuts M6

Mounting Instruction

No. 148496/00

2 Screws M6 x 60
2 Nuts M6

Stop tube mounted for 75 mm (3") hose

Stop tube mounted for 100 mm (4") hose

2 Screws M6 x 60
2 Nuts M6

2 Screws M6 x 60
2 Nuts M6

ON/OFF-Switch for Spring Operated Exhaust Hose Reel

ON/OFF-
Switch

24
 V

24
 V

1~

24
 V

24
 V

3~

ON/OFF-
Switch

Stop tube mounted for 125 mm (5") hose

Stop tube mounted for 150 mm (6") hose

Electrical installation
should be done by a
qualified electrician
according to local
regulations.

N  L L1 L2 L3


